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TReITTED . 40 TS 2080 VI T IR QNeBRMST, ateoe as’m,v’@
55'*9’7?12 QEFRMFIY .

SECTION - A
QRN - 2

Answer any five of the following (5%x2=10)
FINTPNYY, CCRPTRTER WTE LVZOR
1. What do you mean by wage ? .
329 Q0BT ? - ZONESS g
2. What do you mean by time wage ? (= pere™ ) ;;;;'.}
FoO BROCD LTFHE ? o ;

3. Name any two types of wage incentive plan.
ARRTE TR 0ede BRd egg\s'aa BREWIOTY, T

4. Give the meaning of expatriate compensation:
NTIede TOTITW ejz;jracﬁ% QeR.

5. Write any two objectives of wages.
B3RO CSRR)TITTR TR wd@esmfab%udqtoa.

P.T:0.
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6. Ms. Jaya completed producing 40 units in a day of 8 hours. If the piece rate is
X 24 per unit, calculate Ms. Jaya’s earnings under the piece rate system.
S e HOD STW 8 RoUindQ, 40 CRLAEFNY LVTTIoDT) FEeFREYAT
QR TR T8 cwedeFn T 24 ejﬁcéd, Qe TO 3037\101 ©RODY WO 5T
NP3, &g To8.

7. Mr. Dhana was working 8 hours in a day and produced 12 units. If time rate per
hour is ¥ 30, calculate Mr. Dhana’s earnings per day under time rate system.
3¢ TRTHW 2,000 OTTY, 8 niotd TR IR 12 FLBAGTY VT QAITYT. T8
notdn I=HobT o) T 30 SNTT, TROODT =T 555%033@0.*;3@ QI8 & ¢ FITST

regod) o8 T8 O
(s ["'L eany )2 SECTION - B
‘l}\ N S LN - W
oL/
Answer.any five of the following : (5x4=20)

BINSZYNYY, CINY TR DTE LUZ0R

8. Analyze the factors influencing wage structure.
3RO TWFoD e T, eddS woeﬁﬁ@ﬁgﬁ WF LR,
9. Explain Equal Remuneration Act, 1976.
ARIPT FOLTOWS FI0WT, 1976 S, DO
10. Explain the types of wage incentive plans.
2RO Tt TE CSRRISNY TTONYRY DFOA.
11. Critically analyze the ethical dilemmas in wage and salary administration.

3RO WP FeFT STEITY F 3% FoNInIR), mdzergEmen QFeas.

12. Write a note on remote work compensation.

ORpets® AT TOTITE s £57 83 LBOW0.
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13. Calculate earnings of Virat and Shikar under Rowan scheme.
AR CSRERHODRODY, DT 0B $80° =T NPToRRY &8 Hos.

Mr. Virat Mr. Shikar
Standard Time/s, &SR8 Bsooh 48 hours 48 hours
Normal piece rate/mwm) QEX° T30 T 20/unit T 22/unit
Normal time rate/momng, Wod T3 | 30/hour | 30/hour
Time taken/2richénoz B0k 49 hours 46 hours

14. Calculate wage payable to workers under Halsey scheme who are supposed

to complete task in 56 hours each. If two workers Ms. Neha and Ms. Karuna
completes the same task in 52 hours and 49 hours respectively. The hourly
rate ¥ 25.
TOWETTL 3 56 nognes) ﬁomwﬁn PEFTRPTICER. SJewo WBY FTOHD BRI
©Te OB, 3,:0woN 52 rosdnsd 3033 49 nowined) Tpeorriee ,%CSU, &,& NoL3od
oo X 25 doé T CdReRIODE FRWFFOR RS eTT DeSIJR, 5910
INE.

SECTION-C s
RN - 2 ,_A&(\j;"’ ~Z,
Answer any three of the following : <\ | (3x10=30)

W\ \
FPNTPNS) CIRPTETR SRTE GVZ0R W =

15. From the following information calculate earnings of four employees: A, B, C and
D, under Straight piece raté system and Taylors differential piece rate system.

BN Bn&ES0OT T VTR ENTT A, B, C =020 D o=o NYTET, 3 N, 8 ex
gees 2% I30° B0 éﬁ”dh’“?‘ andwodaef Q% Beez® 2 DT SROEY. ~“fazaw InRA.
Standard time per week/zo08 T, 3552683 I300d : 48 hours
Standard output per hour/rosr =,=mess Besmes : 5 units
Time rate/==003 T3 : T 50 per hour ,
Actual output/2eses Bes*@Es® : Mr. A 200 units, Mr. B : 240 units

Mr. C : 250 units, Mr. D : 260 units.
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16.

17.

18.

19.

Elucidate Payment of Bonus Act, 1965 and Payment of Wages Act, 1936.
BRI Towd azoiou, 1965 =03 FeST TonS FOWT, 1936 & < LD3DETOA.
Explain the process of formulation of wage policy in India.

(TIEE, [T eI Te3FC> T8, 080D DFOR.

Write advantages and limitations of wage incentive plans.

3RO T, 0T odpexsny 3, 08ReEINEL BBV Q0INTZ, 2080200.

Explain implications of Gig economy for wage and salary administration.

B3RO mzfg 023 DRFBFHMON DY SHFTSCD TOTOTONTRD, WWOX.
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